ol T = Bk E B
=2k BEH EF K

TM7E A =]

Fa2[E FULTA—ABREEBRKE (FIH) HAZ (7/1051)

REE4 F-L%
- T B ihEie i ( )
= B
SmE 5, 000 X F—L = M
4 R

A B B TH B B
ZYHEBICUZEERELLET,

BEM. XvE—IMIC 420 F—AL&]11 DOBFE Oos - OF8
BOBESITHRBEAZZ AL
\- [ 1 J
QW FHETIFLALIZEL,
OEFATHLEALT LVEFICIEIVAFRREZHBELLETS,

F—AB F—AB F—ALB

S0 A B C S0 A B o} S0 A B C
SEEN OIS, SEEN 1T, SEEN IS,

(FHHe) (Bh) (Fh)

BFL BFB BFB

1 1 1

2 2 2

3 3 3

4 4 4

5 5 5

6 6 6

BHF—LDGHE . BOIBEICA-B-CELFET . AUN—DEEFHAZMATHRENLET,
Flo. F—LRBITOAVN—DANBAITHEFE A,




